

Available online at www.sciencedirect.com



JOURNAL OF Approximation Theory

Journal of Approximation Theory 134 (2005) 257-266

www.elsevier.com/locate/jat

# A strong convergence theorem for relatively nonexpansive mappings in a Banach space

Shin-ya Matsushita, Wataru Takahashi\*

Department of Mathematical and Computing Sciences, Tokyo Institute of Technology, Oh-Okayama, Meguro-ku, Tokyo, 152-8552, Japan

Received 10 July 2003; received in revised form 5 January 2005; accepted 16 February 2005

Communicated by Frank Deutsch Available online 2 April 2005

### Abstract

In this paper, we prove a strong convergence theorem for relatively nonexpansive mappings in a Banach space by using the hybrid method in mathematical programming. Using this result, we also discuss the problem of strong convergence concerning nonexpansive mappings in a Hilbert space and maximal monotone operators in a Banach space.

© 2005 Elsevier Inc. All rights reserved.

MSC: primary 47H09; secondary 47H05

*Keywords:* Relatively nonexpansive mapping; Nonexpansive mapping; Asymptotic fixed point; Generalized projection; Maximal monotone operator

### 1. Introduction

Let *E* be a smooth Banach space and let  $E^*$  be the dual of *E*. The function  $\phi : E \times E \to \mathbf{R}$  is defined by

$$\phi(y, x) = \|y\|^2 - 2\langle y, Jx \rangle + \|x\|^2$$

for all  $x, y \in E$ , where J is the normalized duality mapping from E to  $E^*$ . Let C be a closed convex subset of E, and let T be a mapping from C into itself. We denote by F(T)

<sup>\*</sup> Corresponding author. Fax: +81 3 5734 3208.

*E-mail addresses:* shinya2@is.titech.ac.jp (S. Matsushita), wataru@is.titech.ac.jp (W. Takahashi).

the set of fixed points of *T*. A point *p* in *C* is said to be an asymptotic fixed point of *T* [13] if *C* contains a sequence  $\{x_n\}$  which converges weakly to *p* such that the strong  $\lim_{n\to\infty} (x_n - Tx_n) = 0$ . The set of asymptotic fixed points of *T* will be denoted by  $\hat{F}(T)$ . A mapping *T* from *C* into itself is called nonexpansive if  $||Tx - Ty|| \le ||x - y||$  for all  $x, y \in C$  and relatively nonexpansive [3–5] if  $\hat{F}(T) = F(T)$  and  $\phi(p, Tx) \le \phi(p, x)$  for all  $x \in C$  and  $p \in F(T)$ . The asymptotic behavior of a relatively nonexpansive mapping was studied in [3–5]. On the other hand, Nakajo and Takahashi [9] obtained strong convergence theorems for nonexpansive mappings in a Hilbert space. In particular, they studied the strong convergence of the sequence  $\{x_n\}$  generated by

$$\begin{cases} x_0 = x \in C, \\ y_n = \alpha_n x_n + (1 - \alpha_n) S x_n, \\ C_n = \{ z \in C : \| z - y_n \| \le \| z - x_n \| \}, \\ Q_n = \{ z \in C : \langle x_n - z, x - x_n \rangle \ge 0 \}, \\ x_{n+1} = P_{C_n \cap Q_n} x, n = 0, 1, 2, \dots, \end{cases}$$

where  $\{\alpha_n\} \subset [0, 1]$ , *S* is a nonexpansive mapping from *C* into itself and  $P_{C_n \cap Q_n}$  is the metric projection from *C* onto  $C_n \cap Q_n$ .

Motivated by Nakajo and Takahashi [9], our purpose in this paper is to prove a strong convergence theorem for relatively nonexpansive mappings in a Banach space. Using this result, we also discuss the problem of strong convergence concerning nonexpansive mappings in a Hilbert space and maximal monotone operators in a Banach space.

## 2. Preliminaries

Let *E* be a real Banach space with norm  $\|\cdot\|$  and let  $E^*$  be the dual of *E*. Denote by  $\langle\cdot, \cdot\rangle$  the duality product. The normalized duality mapping *J* from *E* to  $E^*$  is defined by

$$Jx = \{x^* \in E^* : \langle x, x^* \rangle = \|x\|^2 = \|x^*\|^2\}$$

for  $x \in E$ . When  $\{x_n\}$  is a sequence in *E*, we denote strong convergence of  $\{x_n\}$  to  $x \in E$  by  $x_n \to x$  and weak convergence by  $x_n \rightharpoonup x$ .

A Banach space *E* is said to be strictly convex if  $\|\frac{x+y}{2}\| < 1$  for all  $x, y \in E$  with  $\|x\| = \|y\| = 1$  and  $x \neq y$ . It is also said to be uniformly convex if  $\lim_{n\to\infty} \|x_n - y_n\| = 0$  for any two sequences  $\{x_n\}, \{y_n\}$  in *E* such that  $\|x_n\| = \|y_n\| = 1$  and  $\lim_{n\to\infty} \|\frac{x_n+y_n}{2}\| = 1$ . Let  $U = \{x \in E : \|x\| = 1\}$  be the unit sphere of *E*. Then the Banach space *E* is said to be smooth provided

$$\lim_{t \to 0} \frac{\|x + ty\| - \|x\|}{t}$$

exists for each  $x, y \in U$ . It is also said to be uniformly smooth if the limit is attained uniformly for  $x, y \in U$ . It is well known that if *E* is smooth, then the duality mapping *J* is single valued. It is also known that if *E* is uniformly smooth, then *J* is uniformly normto-norm continuous on each bounded subset of *E*. Some properties of the duality mapping have been given in [6,12,16,17]. A Banach space *E* is said to have the Kadec–Klee property if a sequence  $\{x_n\}$  of *E* satisfying that  $x_n \rightarrow x \in E$  and  $||x_n|| \rightarrow ||x||$ , then  $x_n \rightarrow x$ . It is

259

known that if *E* is uniformly convex, then *E* has the Kadec–Klee property; see [6,16,17] for more details. Let *E* be a smooth Banach space. The function  $\phi : E \times E \to \mathbf{R}$  is defined by

$$\phi(y, x) = \|y\|^2 - 2\langle y, Jx \rangle + \|x\|^2$$

for  $x, y \in E$ . It is obvious from the definition of the function  $\phi$  that

$$(\|y\| - \|x\|)^2 \leqslant \phi(y, x) \leqslant (\|y\| + \|x\|)^2$$
(2.1)

for all  $x, y \in E$ .

**Remark 2.1.** If *E* is a strictly convex and smooth Banach space, then for  $x, y \in E$ ,  $\phi(y, x) = 0$  if and only if x = y. It is sufficient to show that if  $\phi(y, x) = 0$  then x = y. From (2.1), we have ||x|| = ||y||. This implies  $\langle y, Jx \rangle = ||y||^2 = ||Jx||^2$ . From the definition of *J*, we have Jx = Jy. Since *J* is one-to-one, we have x = y; see [6,16,17] for more details.

Recently, Kamimura and Takahashi [7] proved the following result. This plays an important role in the proof of the main theorem.

**Proposition 2.1** (*Kamimura and Takahashi* [7]). Let *E* be a uniformly convex and smooth Banach space and let  $\{y_n\}, \{z_n\}$  be two sequences of *E*. If  $\phi(y_n, z_n) \to 0$  and either  $\{y_n\}$  or  $\{z_n\}$  is bounded, then  $y_n - z_n \to 0$ .

Let *C* be a nonempty closed convex subset of *E*. Suppose that *E* is reflexive, strictly convex and smooth. Then, for any  $x \in E$ , there exists a point  $x_0 \in C$  such that

$$\phi(x_0, x) = \min_{y \in C} \phi(y, x).$$

The mapping  $P_C: E \to C$  defined by  $P_C x = x_0$  is called the generalized projection [1,2,7]. The following are well-known results. For example, see [1,2,7]

**Proposition 2.2** (Alber [1], Alber and Reich [2], Kamimura and Takahashi [7]). Let C be a nonempty closed convex subset of a smooth Banach space E and  $x \in E$ . Then,  $x_0 = P_C x$  if and only if

$$\langle x_0 - y, Jx - Jx_0 \rangle \ge 0$$

for  $y \in C$ .

**Proposition 2.3** (Alber [1], Alber and Reich [2], Kamimura and Takahashi [7]). Let E be a reflexive, strictly convex and smooth Banach space, let C be a nonempty closed convex subset of E and let  $x \in E$ . Then

$$\phi(y, P_C x) + \phi(P_C x, x) \leq \phi(y, x)$$

for all  $y \in C$ .

Concerning the set of fixed points of a relatively nonexpansive mapping, we can prove the following result. **Proposition 2.4.** Let E be a strictly convex and smooth Banach space, let C be a closed convex subset of E, and let T be a relatively nonexpansive mapping from C into itself. Then F(T) is closed and convex.

**Proof.** We first show that F(T) is closed. Let  $\{x_n\}$  be a sequence of F(T) such that  $x_n \rightarrow F(T)$  $\hat{x} \in C$ . From the definition of T,

$$\phi(x_n, T\hat{x}) \leqslant \phi(x_n, \hat{x})$$

for each  $n \in \mathbb{N}$ . This implies,

$$\phi(\hat{x}, T\hat{x}) = \lim_{n \to \infty} \phi(x_n, T\hat{x}) \leq \lim_{n \to \infty} \phi(x_n, \hat{x}) = \phi(\hat{x}, \hat{x}) = 0.$$

Therefore we obtain  $\hat{x} = T\hat{x}$ . So, we have  $\hat{x} \in F(T)$ . Next, we show that F(T) is convex. For  $x, y \in F(T)$  and  $t \in (0, 1)$ , put z = tx + (1 - t)y. It is sufficient to show Tz = z. In fact, we have

$$\begin{split} \phi(z, Tz) &= \|z\|^2 - 2\langle z, JTz \rangle + \|Tz\|^2 \\ &= \|z\|^2 - 2\langle tx + (1-t)y, JTz \rangle + \|Tz\|^2 \\ &= \|z\|^2 - 2t\langle x, JTz \rangle - 2(1-t)\langle y, JTz \rangle + \|Tz\|^2 \\ &= \|z\|^2 + t\phi(x, Tz) + (1-t)\phi(y, Tz) - t\|x\|^2 - (1-t)\|y\|^2 \\ &\leqslant \|z\|^2 + t\phi(x, z) + (1-t)\phi(y, z) - t\|x\|^2 - (1-t)\|y\|^2 \\ &= \|z\|^2 - 2\langle tx + (1-t)y, Jz \rangle + \|z\|^2 \\ &= \|z\|^2 - 2\langle z, Jz \rangle + \|z\|^2 = 0. \end{split}$$

This implies z = Tz.  $\Box$ 

#### 3. Main result

Now, we can prove a strong convergence theorem for relatively nonexpansive mappings in a Banach space by using the hybrid method in mathematical programming.

**Theorem 3.1.** Let E be a uniformly convex and uniformly smooth Banach space, let C be a nonempty closed convex subset of E, let T be a relatively nonexpansive mapping from C into itself, and let  $\{\alpha_n\}$  be a sequence of real numbers such that  $0 \leq \alpha_n < 1$  and  $\limsup_{n\to\infty} \alpha_n < 1$ . Suppose that  $\{x_n\}$  is given by

 $\begin{cases} x_0 = x \in C, \\ y_n = J^{-1}(\alpha_n J x_n + (1 - \alpha_n) J T x_n), \\ H_n = \{z \in C : \phi(z, y_n) \leq \phi(z, x_n)\}, \\ W_n = \{z \in C : \langle x_n - z, J x - J x_n \rangle \geq 0\}, \\ x_{n+1} = P_{H_n \cap W_n} x, n = 0, 1, 2, \dots, \end{cases}$ 

where J is the duality mapping on E. If F(T) is nonempty, then  $\{x_n\}$  converges strongly to  $P_{F(T)}x$ , where  $P_{F(T)}$  is the generalized projection from C onto F(T).

**Proof.** We first show that  $H_n$  and  $W_n$  are closed and convex for each  $n \in \mathbb{N} \cup \{0\}$ . From the definition of  $H_n$  and  $W_n$ , it is obvious that  $H_n$  is closed and  $W_n$  is closed and convex for each  $n \in \mathbb{N} \cup \{0\}$ . We show that  $H_n$  is convex. Since  $\phi(z, y_n) \leq \phi(z, x_n)$  is equivalent to

$$2\langle z, Jx_n - Jy_n \rangle + \|y_n\|^2 - \|x_n\|^2 \leq 0,$$

it follows that  $H_n$  is convex.

Next, we show that  $F(T) \subset H_n \cap W_n$  for each  $n \in \mathbb{N} \cup \{0\}$ . Let  $u \in F(T)$  and let  $n \in \mathbb{N} \cup \{0\}$ . Then from

$$\begin{split} \phi(u, y_n) &= \phi(u, J^{-1}(\alpha_n J x_n + (1 - \alpha_n) J T x_n)) \\ &= \|u\|^2 - 2\langle u, \alpha_n J x_n + (1 - \alpha_n) J T x_n \rangle + \|\alpha_n J x_n + (1 - \alpha_n) J T x_n \|^2 \\ &\leqslant \|u\|^2 - 2\alpha_n \langle u, J x_n \rangle - 2(1 - \alpha_n) \langle u, J T x_n \rangle + \alpha_n \|x_n\|^2 \\ &+ (1 - \alpha_n) \|T x_n\|^2 \\ &= \alpha_n (\|u\|^2 - 2\langle u, J x_n \rangle + \|x_n\|^2) + (1 - \alpha_n) (\|u\|^2 - 2\langle u, J T x_n \rangle \\ &+ \|T x_n\|^2) \\ &= \alpha_n \phi(u, x_n) + (1 - \alpha_n) \phi(u, T x_n) \\ &\leqslant \alpha_n \phi(u, x_n) + (1 - \alpha_n) \phi(u, x_n) \\ &= \phi(u, x_n), \end{split}$$

we have  $u \in H_n$ . Therefore we obtain

 $F(T) \subset H_n$ 

for each  $n \in \mathbb{N} \cup \{0\}$ . On the other hand, it is clear that  $F(T) \subset H_0 \cap W_0$ . Suppose that  $F(T) \subset H_k \cap W_k$  for some  $k \in \mathbb{N}$ . There exists an element  $x_{k+1} \in H_k \cap W_k$  such that  $x_{k+1} = P_{H_k \cap W_k} x$ . From Proposition 2.2, there holds

$$\langle x_{k+1} - z, Jx - Jx_{k+1} \rangle \ge 0$$

for each  $z \in H_k \cap W_k$ . Since  $F(T) \subset H_k \cap W_k$ , we have  $\langle x_{k+1} - u, Jx - Jx_{k+1} \rangle \ge 0$  for every  $u \in F(T)$  and hence  $F(T) \subset W_{k+1}$ . Therefore we have  $F(T) \subset H_{k+1} \cap W_{k+1}$ . This implies that  $\{x_n\}$  is well defined. It follows from the definition of  $W_n$  and Proposition 2.2 that  $x_n = P_{W_n}x$ . Using  $x_n = P_{W_n}x$  and Proposition 2.3, we have

$$\phi(x_n, x) = \phi(P_{W_n}x, x) \leqslant \phi(u, x) - \phi(u, x_n) \leqslant \phi(u, x)$$

for each  $u \in F(T) \subset W_n$  for each  $n \in \mathbb{N} \cup \{0\}$ . Therefore,  $\phi(x_n, x)$  is bounded. Moreover, from (2.1), we have that  $\{x_n\}$  is bounded.

Since  $x_{n+1} = P_{H_n \cap W_n} x \in W_n$  and Proposition 2.3, we have

$$\phi(x_n, x) \leqslant \phi(x_{n+1}, x)$$

for each  $n \in \mathbb{N} \cup \{0\}$ . Therefore  $\{\phi(x_n, x)\}$  is nondecreasing. So there exists the limit of  $\phi(x_n, x)$ . From Proposition 2.3, we have

$$\phi(x_{n+1}, x_n) = \phi(x_{n+1}, P_{W_n} x) \leqslant \phi(x_{n+1}, x) - \phi(P_{W_n} x, x)$$
  
=  $\phi(x_{n+1}, x) - \phi(x_n, x)$ 

for each  $n \in \mathbb{N} \cup \{0\}$ . This implies that  $\lim_{n \to \infty} \phi(x_{n+1}, x_n) = 0$ . Since  $x_{n+1} = P_{H_n \cap W_n} x \in H_n$ , from the definition of  $H_n$ , we also have

$$\phi(x_{n+1}, y_n) \leqslant \phi(x_{n+1}, x_n)$$

for each  $n \in \mathbb{N} \cup \{0\}$ . Tending  $n \to \infty$ , we have  $\lim_{n\to\infty} \phi(x_{n+1}, y_n) = 0$ . Using Proposition 2.1, we obtain

$$\lim_{n \to \infty} \|x_{n+1} - y_n\| = \lim_{n \to \infty} \|x_{n+1} - x_n\| = 0.$$

Since J is uniformly norm-to-norm continuous on bounded sets, we have

$$\lim_{n \to \infty} \|Jx_{n+1} - Jy_n\| = \lim_{n \to \infty} \|Jx_{n+1} - Jx_n\| = 0.$$
(3.1)

On the other hand, we have, for each  $n \in \mathbb{N} \cup \{0\}$ ,

$$\begin{aligned} \|Jx_{n+1} - Jy_n\| &= \|Jx_{n+1} - (\alpha_n Jx_n + (1 - \alpha_n) JTx_n))\| \\ &= \|\alpha_n (Jx_{n+1} - Jx_n) + (1 - \alpha_n) (Jx_{n+1} - JTx_n)| \\ &= \|(1 - \alpha_n) (Jx_{n+1} - JTx_n) - \alpha_n (Jx_n - Jx_{n+1})| \\ &\ge (1 - \alpha_n) \|Jx_{n+1} - JTx_n\| - \alpha_n \|Jx_n - Jx_{n+1}\| \end{aligned}$$

and hence

$$\|Jx_{n+1} - JTx_n\| \leq \frac{1}{1 - \alpha_n} (\|Jx_{n+1} - Jy_n\| + \alpha_n \|Jx_n - Jx_{n+1}\|)$$
  
$$\leq \frac{1}{1 - \alpha_n} (\|Jx_{n+1} - Jy_n\| + \|Jx_n - Jx_{n+1}\|).$$

From (3.1) and  $\limsup_{n\to\infty} \alpha_n < 1$ , we obtain

$$\lim_{n\to\infty}\|Jx_{n+1}-JTx_n\|=0.$$

Since  $J^{-1}$  is also uniformly norm-to-norm continuous on bounded sets, we obtain

$$\lim_{n \to \infty} \|x_{n+1} - Tx_n\| = \lim_{n \to \infty} \|J^{-1}(Jx_{n+1}) - J^{-1}(JTx_n)\| = 0.$$

From

$$\|x_n - Tx_n\| = \|x_n - x_{n+1} + x_{n+1} - Tx_n\|$$
  
$$\leq \|x_n - x_{n+1}\| + \|x_{n+1} - Tx_n\|,$$

we have  $\lim_{n\to\infty} ||x_n - Tx_n|| = 0$ . Therefore, if  $\{x_{n_k}\}$  is a subsequence of  $\{x_n\}$  such that  $x_{n_k} \rightharpoonup \hat{x} \in C$ , then  $\hat{x} \in \hat{F}(T) = F(T)$ .

Finally, we show that  $x_n \to P_{F(T)}x$ . Let  $\{x_{n_k}\}$  be a subsequence of  $\{x_n\}$  such that  $x_{n_k} \to \hat{x} \in F(T)$  and  $w = P_{F(T)}x$ . For any  $n \in \mathbb{N}$ , from  $x_{n+1} = P_{H_n \cap W_n}x$  and  $w \in F(T) \subset H_n \cap W_n$ , we have  $\phi(x_{n+1}, x) \leq \phi(w, x)$ . On the other hand, from weakly lower semicontinuity of the norm, we have

$$\phi(\hat{x}, x) = \|\hat{x}\|^2 - 2\langle \hat{x}, Jx \rangle + \|x\|^2 \\ \leqslant \liminf_{k \to \infty} (\|x_{n_k}\|^2 - 2\langle x_{n_k}, Jx \rangle + \|x\|^2)$$

262

$$= \liminf_{k \to \infty} \phi(x_{n_k}, x)$$
  
$$\leq \limsup_{k \to \infty} \phi(x_{n_k}, x)$$
  
$$\leq \phi(w, x).$$

From the definition of  $P_{F(T)}x$ , we obtain  $\hat{x} = w$  and hence  $\lim_{k\to\infty} \phi(x_{n_k}, x) = \phi(w, x)$ . So, we have

$$\lim_{k\to\infty}\|x_{n_k}\|=\|w\|.$$

Using the Kadec–Klee property of *E*, we obtain that  $\{x_{n_k}\}$  converges strongly to  $P_{F(T)}x$ . Since  $\{x_{n_k}\}$  is an arbitrary weakly convergent sequence of  $\{x_n\}$ , we can conclude that  $\{x_n\}$  converges strongly to  $P_{F(T)}x$ .  $\Box$ 

#### 4. Applications

In this section, we discuss the problem of strong convergence concerning nonexpansive mappings in a Hilbert space and maximal monotone operators in a Banach space. Using Theorem 3.1, we first obtain the result of [9].

**Theorem 4.1** (*Nakajo and Takahashi*[9]). Let C be a nonempty closed convex subset of a Hilbert space H, and let T be a nonexpansive mapping of C into itself such that F(T) is nonempty. Suppose that  $\{x_n\}$  is given by

$$\begin{cases} x_0 = x \in C, \\ y_n = \alpha_n x_n + (1 - \alpha_n) T x_n, \\ C_n = \{ z \in C : ||z - y_n|| \le ||z - x_n|| \}, \\ Q_n = \{ z \in C : \langle x_n - z, x - x_n \rangle \ge 0 \}, \\ x_{n+1} = P_{C_n \cap Q_n} x, n = 0, 1, 2, \dots, \end{cases}$$

where  $\{\alpha_n\} \subset [0, a)$  for some  $a \in [0, 1)$  and  $P_{C_n \cap Q_n}$  is the metric projection from C onto  $C_n \cap Q_n$ . Then  $\{x_n\}$  converges strongly to  $P_{F(T)}x$ , where  $P_{F(T)}$  is the metric projection from C onto F(T).

**Proof.** It is sufficient to prove that if *T* is nonexpansive, then *T* is relatively nonexpansive. It is obvious that  $F(T) \subset \hat{F}(T)$ . If  $u \in \hat{F}(T)$ , then there exists  $\{x_n\} \subset C$  such that  $x_n \rightharpoonup u$  and  $x_n - Tx_n \rightarrow 0$ . Since *T* is nonexpansive, *T* is demiclosed. So, we have u = Tu. This implies  $F(T) = \hat{F}(T)$ . Further, in a Hilbert space *H*, we know that

$$\phi(x, y) = \|x - y\|^2$$

for every  $x, y \in H$ . So,  $||Tx - Ty|| \le ||x - y||$  is equivalent to  $\phi(Tx, Ty) \le \phi(x, y)$ . Therefore, *T* is relatively nonexpansive. Using Theorem 3.1, we obtain the desired result.  $\Box$ 

Let A be a multivalued operator from E to  $E^*$  with domain  $D(A) = \{z \in E : Az \neq \phi\}$  and range  $R(A) = \bigcup \{Az : z \in D(A)\}$ . An operator A is said to be monotone if

 $\langle x_1 - x_2, y_1 - y_2 \rangle \ge 0$  for each  $x_i \in D(A)$  and  $y_i \in Tx_i$ , i = 1, 2. A monotone operator *A* is said to be maximal if its graph  $G(A) = \{(x, y) : y \in Ax\}$  is not properly contained in the graph of any other monotone operator. We know that if *A* is a maximal monotone operator, then  $A^{-1}0$  is closed and convex. The following result is also well-known.

**Theorem 4.2** (*Rockafellar* [14]). Let *E* be a reflexive, strictly convex and smooth Banach space and let *A* be a monotone operator from *E* to  $E^*$ . Then *A* is maximal if and only if  $R(J + rA) = E^*$  for all r > 0.

Let *E* be a reflexive, strictly convex and smooth Banach space, and let *A* be a maximal monotone operator from *E* to  $E^*$ . Using Theorem 4.2 and strict convexity of *E*, we obtain that for every r > 0 and  $x \in E$ , there exists a unique  $x_r \in D(A)$  such that

$$Jx \in Jx_r + rAx_r$$

If  $J_r x = x_r$ , then we can define a single valued mapping  $J_r : E \to D(A)$  by  $J_r = (J + rA)^{-1}J$  and such a  $J_r$  is called the resolvent of A. We know that  $A^{-1}0 = F(J_r)$  for all r > 0; see[16,17] for more details. Using Theorem 3.1, we can consider the problem of strong convergence concerning maximal monotone operators in a Banach space. Such a problem has been also studied in [7–11,13,15].

**Theorem 4.3.** Let *E* be a uniformly convex and uniformly smooth Banach space, let *A* be a maximal monotone operator from *E* to  $E^*$ , let  $J_r$  be a resolvent of *A*, where r > 0 and let  $\{\alpha_n\}$  be a sequence of real numbers such that  $0 \le \alpha_n < 1$  and  $\limsup_{n\to\infty} \alpha_n < 1$ . Suppose that  $\{x_n\}$  is given by

$$\begin{cases} x_0 = x \in E, \\ y_n = J^{-1}(\alpha_n J x_n + (1 - \alpha_n) J J_r x_n), \\ H_n = \{z \in E : \phi(z, y_n) \leq \phi(z, x_n)\}, \\ W_n = \{z \in E : \langle x_n - z, J x - J x_n \rangle \ge 0\}, \\ x_{n+1} = P_{H_n \cap W_n} x, n = 0, 1, 2, \dots, \end{cases}$$

where J is the duality mapping on E. If  $A^{-1}0$  is nonempty, then  $\{x_n\}$  converges strongly to  $P_{A^{-1}0}x$  where  $P_{A^{-1}0}$  is the generalized projection from E onto  $A^{-1}0$ .

**Proof.** We first show that  $\hat{F}(J_r) \subset A^{-1}0$ . Let  $p \in \hat{F}(J_r)$ . Then, there exists  $\{z_n\} \subset E$  such that  $z_n \rightharpoonup p$  and  $\lim_{n \to \infty} (z_n - J_r z_n) = 0$ . Since *J* is uniformly norm-to-norm continuous on bounded sets, we obtain

$$\frac{1}{r}(Jz_n - JJ_rz_n) \to 0.$$

It follows from  $\frac{1}{r}(Jz_n - JJ_rz_n) \in AJ_rz_n$  and the monotonicity of A that

$$\langle w - J_r z_n, w^* - \frac{1}{r} (J z_n - J J_r z_n) \rangle \ge 0$$

for all  $w \in D(A)$  and  $w^* \in Aw$ . Letting  $n \to \infty$ , we have

$$\langle w - p, w^* \rangle \ge 0$$

for all  $w \in D(A)$  and  $w^* \in Aw$ . Therefore from the maximality of A, we obtain  $p \in A^{-1}0$ . On the other hand, we know that  $F(J_r) = A^{-1}0$  and  $F(J_r) \subset \hat{F}(J_r)$ , therefore  $A^{-1}0 = F(J_r) = \hat{F}(J_r)$ . Next we show that  $J_r$  is a relatively nonexpansive mapping with respect to  $A^{-1}0$ . Let  $w \in E$  and  $p \in A^{-1}0$ . From the monotonicity of A, we have

$$\begin{split} \phi(p, J_r w) &= \|p\|^2 - 2\langle p, JJ_r w \rangle + \|J_r w\|^2 \\ &= \|p\|^2 + 2\langle p, Jw - JJ_r w - Jw \rangle + \|J_r w\|^2 \\ &= \|p\|^2 + 2\langle p, Jw - JJ_r w \rangle - 2\langle p, Jw \rangle + \|J_r w\|^2 \\ &= \|p\|^2 - 2\langle J_r w - p - J_r w, Jw - JJ_r w \rangle - 2\langle p, Jw \rangle + \|J_r w\|^2 \\ &= \|p\|^2 - 2\langle J_r w - p, Jw - JJ_r w \rangle \\ &+ 2\langle J_r w, Jw - JJ_r w \rangle - 2\langle p, Jw \rangle + \|J_r w\|^2 \\ &= \|p\|^2 - 2r\langle J_r w - p, \frac{1}{r}(Jw - JJ_r w) \rangle \\ &+ 2\langle J_r w, Jw - JJ_r w \rangle - 2\langle p, Jw \rangle + \|J_r w\|^2 \\ &= \|p\|^2 - 2r\langle J_r w, Jw - JJ_r w \rangle - 2\langle p, Jw \rangle + \|J_r w\|^2 \\ &\leq \|p\|^2 + 2\langle J_r w, Jw - JJ_r w \rangle - 2\langle p, Jw \rangle + \|J_r w\|^2 \\ &= \|p\|^2 - 2\langle p, Jw \rangle + \|w\|^2 - \|J_r w\|^2 + 2\langle J_r w, Jw \rangle - \|w\|^2 \\ &= \phi(p, w) - \phi(J_r w, w) \\ &\leqslant \phi(p, w). \end{split}$$

This implies that  $J_r$  is a relatively nonexpansive mapping. Using Theorem 3.1, we can conclude that  $\{x_n\}$  converges strongly to  $P_{A^{-1}0}x$ .

#### Acknowledgments

The authors would like to thank the referee for valuable suggestions which helped to improve this manuscript.

#### References

- Ya.I. Alber, Metric and generalized projection operators in Banach spaces: properties and applications, in: A.G. Kartsatos (Ed.), Theory and Applications of Nonlinear Operators of Accretive and Monotone Type, Marcel Dekker, New York, 1996, pp. 15–50.
- [2] Ya.I. Alber, S. Reich, An iterative method for solving a class of nonlinear operator equations in Banach spaces, Panamer. Math. J. 4 (1994) 39–54.
- [3] D. Butnariu, S. Reich, A.J. Zaslavski, Asymptotic behavior of relatively nonexpansive operators in Banach spaces, J. Appl. Anal. 7 (2001) 151–174.
- [4] D. Butnariu, S. Reich, A.J. Zaslavski, Weak convergence of orbits of nonlinear operators in reflexive Banach spaces, Numer. Funct. Anal. Optim. 24 (2003) 489–508.
- [5] Y. Censor, S. Reich, Iterations of paracontractions and firmly nonexpansive operators with applications to feasibility and optimization, Optimization 37 (1996) 323–339.
- [6] I. Cioranescu, Geometry of Banach Spaces, Duality Mappings and Nonlinear Problems, Kluwer, Dordrecht, 1990.
- [7] S. Kamimura, W. Takahashi, Strong convergence of a proximal-type algorithm in a Banach space, SIAM J. Optim. 13 (2002) 938–945.
- [8] F. Kohsaka, W. Takahashi, Strong convergence of an iterative sequence for maximal monotone operators in a Banach space, Abstr. Appl. Anal. (2004) 239–249.

- [9] K. Nakajo, W. Takahashi, Strong convergence theorems for nonexpansive mappings and nonexpansive semigroups, J. Math. Anal. Appl. 279 (2003) 372–379.
- [10] S. Ohsawa, W. Takahashi, Strong convergence theorems for resolvents of maximal monotone operators in Banach spaces, Arch. Math. 81 (2003) 439–445.
- [11] S. Reich, Constructive techniques for accretive and monotone operators, Applied Nonlinear Analysis, in: Proceedings of the Third International Conference University of Texas, Arlington, TX, 1978, Academic Press, New York, 1979, pp. 335–345.
- [12] S. Reich, Review of Geometry of Banach spaces, Duality Mappings and Nonlinear Problems by Ioana Cioranescu, Kluwer Academic Publishers, Dordrecht, 1990, Bull. Amer. Math. Soc. 26 (1992) 367–370.
- [13] S. Reich, A weak convergence theorem for the alternating method with Bregman distance, in: A.G. Kartsatos (Ed.), Theory and Applications of Nonlinear Operators of Accretive and Monotone Type, Marcel Dekker, New York, 1996, pp. 313–318.
- [14] R.T. Rockafellar, On the maximality of sums of nonlinear monotone operators, Trans. Amer. Math. Soc. 149 (1970) 75–88.
- [15] M.V. Solodov, B.F. Svaiter, Forcing strong convergence of proximal point iterations in Hilbert space, Math. Program. 87 (2000) 189–202.
- [16] W. Takahashi, Convex Analysis and Approximation Fixed Points, Yokohama-Publishers, 2000 (Japanese).
- [17] W. Takahashi, Nonlinear Functional Analysis, Yokohama-Publishers, 2000.